—_— o = 5 . [P $; A - s - - - = (=T 0 5
20235’5& ﬁﬂ% %*’Xﬂi_tﬁﬁ?igﬂ}ﬁgl Eﬁaﬁﬁ @'%nﬂi ;gﬁ;ﬂ)if.l'ﬁlﬁjlgffﬂﬂ#lasﬁ(h)@ﬁ—?—%uﬁ)\?é._& TAEBJCIFRELEHMBICMIZANTHIE HRBECEERTEORRLUNOEES
e =0 I . 8H e =0 B
= GESE] - HREE BN RN B A e HREE
S 11 A x S Tl R] 2 2
B 2 | & ES =] 2 |7 1 1
A 3| % 2 S A 3| K] 2 2.5
X I ET HEEE ] X 4 [ 2] 2 2
7 5 [ 1% B A 7 5 | £] 25 2.5
X 6|+ X x 6| H 1 1
ES 718 7t E 718 2 2
g 8| A x S 8 | X] 2 2
H 9| X ES 9(H 9|7 1 2.5
A 10 | 7} + 10 A 10]K] 2 1
X [ ES =] 1]k 1] 4] 8 8 #H7—BEE]
7 12| % A 127 2]+ 1 1
x RS X [RES 13( 8 1 1
14| B 7 14 & 141 B 1 [l B
T 15[ F x RitEREH [HES [HEd [ B
E] 16 | & E 6] 8 16| 7 2 [ B
A 1717 + 17[#% 17 AR] 2 2
X 18| K =] 18] X 18l&) 2 2 BEOH
7 19| & SEHH (k) A 1917 19]F] 8 8 AR
X 20[t X 20| 4 20[8] 8 8 BB 3 AR
S 21 B 7 21| % 21| A 1 1 [FEEN S2mEHT 2
sy 22| B x 22| + 2| k] 2 2 B H2EESTAH
B 28|k E =] 23] 7 1 1 |xemrazs]
A 24| 7 A 24| K] 2 2 AR B
| K 25| K | X 25 2 1 X% B2EEMTAH
7] 26| & S5 1EEHTR 7] 26 ] 2 1 pRE3 H2EEMT A
X 27|+ FIDEHTRH # 27| 8 1 1
S 28| B PM & (I E 28| A] 2 1|8 268K4K]
n 29[ A E 29| k] 2 2
B 30 K 1 30| K 1 1
31 7k 1 3t A] 2 2
EHE ES S EX EE EX
FHREH i 5 7 5 j [} io FHKREH ] ii
KEREH 3 i 75 [ [ 5 KHKEH 6 [
i ; i 24 70 77
WEEBEREEET Y 3% 53 i 57 80
10A ] &E | = = = 28 | .
B ELIEE BRI HREE HREE g r HREE
118 1 1 #3EEHT A 1
2[A] 2 2 2
3|kl 2 2 3
4 |7 1 1 FIEEHT R 4
5 S 2 2 HIEEHTAH 5
6 [&] 2 2 6
71%x] 25 2.5 7 BHARE ]
FRIE 1 1 8
9 |#m] 25 1 JaR—vynRa 9 1
ol x] 2 2 10 1
[E 1 1 11 [ EEEEE
IAES 2 12 1| EREHKA
13| &) 2 2 REREXE] X 1
2.5 2.5 7 1
[HEE] 1 1 x 1
16| B 2 ES 1 |maEzmT 2y
17| & 2 2 =] + 1 apATEEESE|
18] 7 1 1 A [E] 1 3/174R4K
19 K] 2 1 X A 1 |zemzmr2y
20|2] 7 7 20| 7 P I B
211 ] 8 8 IRRRERE) AEES H 7] FAEESTAH
221 8] 8 2 ISR 2% A X
23| A 1 1 23+ X &
24| k] 2 2 D] 24| B 7] +
25 | 7t 1 [l ESE 25| A x =] AETEABHE
26| K| 2 2 26 [ X ES A
27| #]| 2 2 27] 7 * X
25 25 28 [ K =] X
8 8 ERiETE A x
3|8 1 2 sHoEENT A Pa
il k] 2 2 /3 ..
izl ... ]
6 [ 10
3 i [
33 33 50
49 43 PRE R 53 RE SRS 25 25 25




